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ÜSLÜ SAYILAR TEST: 2
ÇÖZÜM

ÜSLÜ SAYILARTEST: 38
ÇÖZÜM
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= a2 ⋅ –a9

= – a2+9

= – a11 dir.
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cevap: c 

8.	     2x⋅4x–1 = 16x–2

2x⋅(22)x–1 = (24)x–2

    2x⋅22x–2 = 24x–8

      23x–2 = 24x–8

    3x – 2 = 4x – 8

            x = 6 dır.

cevap: b 
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11.	 4x + 4x + 4x = 192
           3⋅4x = 192

              4x = 64

4x = 43 ise x = 3 dir.
Buradan
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20.	   4x+1 + 22x = 40
 22x+2 + 22x = 40

22x⋅(22 + 1) = 40

          22x⋅5 = 40

             22x = 8

             22x = 23

              2x = 3

                x = 3
2

 dir.

cevap: b




